g Maths Knowledae Oraaviser Topic A: Prolability of Sinale Eveuts

wWhat must T be able to do?

Key vocabulary

New content:
O Use the probability scale and language of probabili+y
Sparx M55
0 Calenlate the probability of an outcome of an event happening or vot
happening
Sparx Ma44
0 Recognise mutually exclusive and exhaustive events
Sparx M755
[ Caleulate experimental probabilities and relative fredquewcies from

Sparx M2.06
O Apply systematic listing and comnting strategies to identify all possible
outcomes
Sparx U364
[ Read two way tables and use thew to solve probabilities
Sparx M&aq
U Understand avd use freduency tree diagrams
Sparx B532

experiments, Use these to predict the likely vumber of successful outcomes.

Outcome A result of a
probability
experiment.

Event A set of outcomes of
a probability
experiment.

Mutually Events which cawot

exclusive happeun at the same
fime.

Exhaustive | All possible outcomes
have been included.

Relative Tun av experiment, the

Freduency number of times an
event oceurs + the
total number of trials.

Sawmple The set of all possible

Space outcomes. When in a

table or list, it is
often described as a

sample space diagram.

Relative Fredueney

The experiment is rolling the dice, the sample space

L Tom and Sarah roll a 5 sided die. The results are shown below:

s ¢1,2,2,4,5,63, the event could be getting an even

L number £2,4,63 and the outcome is (in this case) Frequency of each wuvber

i even or odd. These two outcomes are mutually Number Town Sarah

L exclusive as a number canvot be both odd and even. ; ; 130

o LI LI 5 : =

i Probability of an eveut ot happening i ; 2
The sum of all probabilities of an experiment is 1. 5 1 5

If the probability of something occurring is P(A),
+then the probability it does wot occur is 4 = P(A).

| Freduewcy trees

200 rolls?

e.q. 120 people were given 3 mivutes to solve a
puzzle. 45 of the people who tried to solve the
puzzle were under 1% vears old. 7% of the people
solved the puzzle. 22 of the people aged 1% and over
t did ot solve the puzzle. Complete the freduency tree
' below.

7 - 43

Under 18

Didn't solve

¢ Two way tables

Solved

Sarah rolled seven 4s in 26 attempts <o %
L 1) Sarah as she did the most trials.,

0) 5% 200 = 3808, = 39 fimes.
X

write doww +wo estimations of the probability of rollivg a 4
which person’s data is likely +o be the closest to the actual
probability of rolling a 47
Using vyour answer +o 1), now many 4s would you expect in

/\
Answer: a) Tow rolled one 4 in G attempts so g

'\
2@ is the sum

of the Fr@qmcmcqﬁ

Expectation = probability of success x vamber of trials

Useful for representing information where +there are 2 different

120 - 45

English

i cateaories, .0). boys/airls and favourite subject.

Waths

Science PE

i The information given in the dquestion determines the Boys

order of workivg. Here, we veed +o find the 75 first. Girls




